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1. (6+6+8pts) Compute the following integrals.

(A) Jf dA  where R is the region bounded by y =z, y =0 and = = 1.
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3. (6+6+8pts) Compute the following line integrals.
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(C) f (y* cos(zy?) + y) dz + (2zycos(zy®) + z +y) dy C is the line (1,2) to (4, 1).
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4. (20pts) Use the method of Lagrange multipliers to find the minimum and maximum
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5. (20pts) Give the limits of integration for Jf f dV as an integral fff dx dy dz and fjj dydzdz

D
if D is the region inside of z =4 — 4%, z+2=4, z =0, z=0. (Do NOT integrate.)
(For 8pts bonus, gr‘mph the region and give ffj dzdz dy. You may need extra paper.)
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